Tab6auua 1. CpaBHUTE/IbHbIE XaPAKTEPUCTUKH KEHIIMH NPeMeHoNay3aJbHOr0, PAHHETr0 U
MO3/IHEr0 MEHONAY3a1bHOI0 Neproaa

Bospacr (1eT)

Oo6pa3oBanue (J1eT)
Jletn (KOJMYECTBO)

I/IH,I[GKC MacCChI TCJIa

(kr/™m?)
Oo6xBar Tajuu (cM)

Cpennee apTepualibHOE

naBiieHue (MM pT. CT.)

CHuxenue CCKCYAJIbHOI'O

BiaeucHus (auanason 0-3)

BrIpaxeHHOCTB

npuuBoOB kapa (1-3)

YyBcTBO cTpecca
(muammazon 0—64)

TpeBoxkHOCTH (AHMana3oH
0-18)

Henpeccus (muamnazon 0—
26)

Hapyienue cHa

(mnanazon 0-3)

IlonaBieHHOCTH

(mmamazon 0—64)

Cunapom nedunura

YJIOBJIETBOPEHHOCTH
['mroxo3a (Mr/mn)
Tpurnutepuabt (Mr/m)

Xonecrepun-JITIBIT

IIpemenonay3a

(n = 60)

41,4+5)9

11,08 £ 3,7
24+18

27,3+4,3

91,1+10,5

82,16 + 5,30

0,73+0,7

0,23+0,4

24,4 +5,8

4,7+3,03

5,05+4,3

0,26+0,4

18,4+9,9

0,3+0,1

875+9,8
122,3 + 57,7

47,7+ 11,7

Panusas

MMOCTMEHOIIay3a

(n =58)

525+4]1

73+4,6
4,3+ 2,06

293+5]1

93,6 +11,8

84,13+ 5,38

162+11

0,86 +0,3

22,4+53

6,1+38

54+51

0,43+0,4

24,2 +11,6

0,4+0,5

92,6 +10,2
148,6 + 60,1

55,6 £12,01

Tlo3auas

MOCTMEHOIIay3a

(n =59)

57,7+ 4,7

8,08 +4,6
38+22

28,7+4.3

91,1+111

82,99 + 5,89

1,77+11

0,74+0,4

25,05+6,3

5,7+3,6

53+4,4

0,52+0,5

22,9+9.2

0,3+0,1

93,05+11,1
155,8 + 68,8

59,6 +9,5

<0,001-»

C

<0,001-»
<0,001=»

0,061

0,402

0,151

<0,00150¢

<0,001=

0,043

0,062

0,871

0,012-»

0,006z

0,411

0,006z
0,009

<0,001=



(mr/m)

Xonecrepun-ueJIIIBII -
(mr/ 1)

Kopruszon (Mkr/mn)
@OCI' (ME/n)
SDNN(mc)

rMSSD (mc)
PNN50(mc)

HY (')

BY (')

JT9/BY(T ')
Tommmua KUM (mm)

HOTOK-OHOCpeHOBaHHaH

nunatanus (%)

IIpemenonay3a
(n=60)

103,6 + 31,2

10,7+ 4,8
12,1+ 20,09
100,6 + 80,2
28,6 +11,0
4,3+6,2
0,02 +0,01
0,06 + 0,02
0,5+0,2
059+0,1

15,4 +10,2

Pannsas
MOCTMEHOMNAay3a
(n=58)

103,2 + 27,8

12,4+ 3,91
49,3 +£24,7
108,9 + 74,2
225+8,5
16=+17
0,04 + 0,02
0,09 + 0,09
0,5+0,2
0,71+0,1

10,8 + 6,7

Tlo3nuas
NMOCTMEHOMAay3a
(n=159)

126,1+ 34,1

134+5,8
53,4+21,3
90,3 + 44,03
27,2+12,6
2,4+25
0,03+0,01
0,08 + 0,06
0,5+0,3
0,77+0,1

9,9+6,3

<0,001c¢

0,181
<0,0012»
0,362
0,007
0,001
0,001
0,042:
0,702

< 0,001z

<0,001=»



